v bA [EYRREE] KMMER

F1 b~ a@FE 5 H (A2 0 1,000 BV, %, ARA )
S

WAL | O | FEHE
[ Hh E - [F] S 22, 326, 574 23, 340, 612 12. 1 4.5 0.5
— IR B 18, 723, 102 18, 972, 929 9.8 1.3 0.1
S PEIEL 11, 523, 496 12, 715, 351 6.6 10.3 0.6
EERNrs wins 11, 358, 234 11, 986, 568 6.2 5.5 0.3
BB 8, 946, 977 9, 622, 496 5.0 7.6 0.4
7T AT w7 B 7,922, 045 8, 141, 904 4.2 2.8 0.1
B 6, 559, 538 7,786, 872 4.0 18.7 0.7
=v MIH 7,818, 852 7,555, 667 3.9 A 3.4 A 0.1
PR 7, 446, 036 7,298, 598 3.8] A 2.0 A 0.1
= FKIA 6,278, 818 5,692, 723 3.0 A 9.3 A0.3
HEE 186, 864, 108 192, 763, 755 100. 0 3.2 3.2

(HAT) by =Gt (TUIK)
#2 oo gEE - H e 6 (B2 2 1,000 By, %, RA >~ 1)
mows | SR

HERR L | OV | % 51
EU 77,957, 086 80,289,247 41.7 3.0 1.2
KA 15,901, 358 15,303, 319 7.9]  A3.8] A0.3
K [E] 11,001, 494 11,819, 962 6.1 7.4 0.4
5 [E] 9, 080, 364 11, 200, 739 5.8 23. 4 1.1
177 8,909, 195 9, 528, 622 4.9 7.0 0.3
A2IT 9, 153, 296 9, 380, 218 4.9 2.5 0.1
ANRA 7,500, 608 7,379, 361 3.8]  Al.6] A0.1
77 A 7,708, 005 7,203,372 3.7 A6.5]  A0.3
=l 8,311,319 6,475,994 3.4 A22.1] A1.0
A 5,702, 836 6,441, 334 3.3 12.9 0.4
UAE 5, 325, 879 6,141, 641 3.2 15.3 0.4
e 186,864, 108] 192, 763, 755| 100.0 3.2 3.2

(Hi P

~ov RS (TUTK)




v ba [EYxREE] MIER

#3 Mo FEEE HREA (EAZ - 1,000 BV, %, A T)
E |

WAt | O | FEEE
FR B 51, 807, 897 48, 060, 365 19.0 AT.2 A 1.4
— ks 30,535,290 29,412,825 11.6 A3 7 A 0.4
Bl B [ 22, 852, 332 23, 008, 402 9.1 0.7 0.1
U 2R 20, 901, 956 20, 052, 138 7.9 A4 1| A 0.3
S 19, 092, 777 17, 382, 385 6.9 N9.0[ A 0.6
| 26, 799, 103 16, 343, 992 6.5 A39.0] A 3.8
75 AF s 7 B, 12, 706, 814 11, 809, 517 4.7 AT 1l A 0.3
AHE T 7,018, 545 7, 166, 270 2.8 2.1 0.1
FEE 4, 796, 594 4, 840, 895 1.9 0.9 0.0
SHE S OV 4 i 4,745, 833 4, 407, 703 1.7 AT.1l A 0.1
gt 274,527, 797] 252, 637, 802 100. 0 N8.0 A 8.0
(HHFT) RV afisteésE (TUIK)
#4 b @EEE - HEGERA (BA{Z 2 1,000 RV, %, ARA L B)

e B

fEpk e | ROV | F 5 AE
EU 78,482,962| 81, 344, 271 32.2 3.6 1.0
=] 34, 434,920| 33,181, 271 13.1]  A3.6]  A0.5
a7 34,702,274 32,555,580 12.9]  A6.2]  AO0.8
A 21,192,812 19, 840, 038 7.9 A6.4]  A0.5
L2V 10,893, 638] 13,811, 195 5.5 26.8 1.1
K 11,840,199| 12,247,931 4.8 3.4 0.1
75 A 8,543, 653 9,535, 798 3.8 11.6 0.4
AA A 16, 565, 829 7,373, 356 2.9 AB5.5|  A3.3
it [ ] 7,234, 747 6,929, 393 2.7 A4.2]  A0.1
AR 6,975,073 6,872, 042 2.7 AL5]  A0.0
A F 6, 028, 551 5,296,176 2.1 A12.1]  A0.3
ot 274, 527, 797] 252,637,802] 100.0] A8.0[ AS8.0
(AT v = ekt (TUIK)
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